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COURSE NAME: STRUCTURAL BIOLOGY MAX MARKS:15
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Note: All questions are compulsory. Carrying of Mobile phone during examination will be treated Sﬁ‘%
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Part A: 0.5 Marks questions (10X0.5 Marks = § Marks) © Y

1. What is the one and three letter code for Asparagine, Arginine, and Aspartic 1}?01d‘? “”3;?
2, 'Who coined the term “primary”, “secondary”, and “quarternary” structure 9 ‘broteir

3. Linus Pauling coined the term and also was able to predgc ;h @?ucture of

4, What type of i 1nteract1ons predominate the binding of vitamin A in Retmol'%l‘;é%mg protein?

5. What is the fold symmetry observed in the hed region of neuramgmd

6. Name some of the greek-key motif incorporated protein struct uzes }%ﬁ-‘

7. For the globin fold, and ob; ervé‘el ¢ helix-heme contacts.

8. Mutation of to in the sixth p f%tg% loglobin causes sickle cell anemia.

0. has been attributed as the reason Why@g%ﬁystélhne protein has four greek-key
motifs,

10. In pectate lyase and protem%@e”b%? Phelix has the sequence pattern

Part B: 2 Marks questions (5X2 Marks = 10 Kz[arkﬁ

)
L. Draw the topology diagrams for the follbmgﬁ%protems
S, *'% Y

Q%% h “motuf” and “fold” involve geometrical arrangement of secondary structures, what
éne tiates them? \
3. AS suming the three sequences below form alpha helices, identify which helix is completely buried,
partially buried, and completely exposed?
“LSFAAAMNGLA”, “KEDAKGKSEEE”, and “INEGFDLIRSG”
4. Tabulate the differences between o, helix, 314 helix and 7 helix.
How can different amino acid sequences have similar 3D structures? What is the mechanism by
which proteins adapt to mutations during evolution?
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